EE.—EG)L:XB

TLoOERvX kb #oA4—/L1200-5-40

<EWICETIHE>
THES 17.0, WY)-tOEE 24.0
120 EEEm 0.40, RE#HAT 5.0
100 —— 1 100 (iEﬁﬁmE&lbl&&
— — EEERDTEZE 0.400
EWﬁﬁﬁ@iEﬁﬁ04m
W = 3.9 W2 = 54 W3 = 0.0
Y
1000 < M o= 4 M = 6
d = 021, e = 024
oL Iwl PH |a00 e/L= 027>1/6 omax =_30< 40
g0 | 4kw SRR Mm,%?fé%g&@
B
L lw (at ) g )
BEREER 2.1 5.4 D13@300
(244) ( 0.58)
780 BEAhR 0.4 1.9 D10@300
Fg’,}ﬂiﬁu 3.5 4.6 D10@300
( 121) 0.51
30 [[IIEE ERRE R
T max E’-H?k 0.12<0.70
JERR 0.03 < 0.70 av4Y-+ Fc21
HEORNE 2 )
PA = 0.40x 17.0x 1.25°x 1/2 = 5kN REHERODEIEER)
PH = 5x c0s0.0° = 5kN  (PA DKFRS)
PV = 5x sin0.0° = OkN  (PA DEAERLS)
PA" = 0.40x 5.0x 1.25 = 2 (REFEHO LETEEN)
PH = 2x c0s0.0° = 2 (PA” DIKFERLS)
PV = 2x sin0.0° = 0 (PN DERE RS
Mt = 5x 0.42 ( 2) (PH IZ&k BELEIE—A 2 B)
+ 2x 0. 63 ( 2) (PH Ik BEREIE—A 2 )
= AkN-m (LELEIE—A 2 B)
Mr = 4x 0. 84+ 5x 0.45 ( 6) W1-W2 2k DERE—A)
+ 0x 0.00 ( 0) W3 Sk BERME—A )
+ 0x 0.90 ( 0) (PV-PV' [CkBERE—AF)
= 6kN-m (£EME—2A2F)
ELE| R R 6/ 4 = 1.51 (Mr/Mt)
Hr = 0.40x 9 ( 4) (EEEZICEHBEEEL. u-2W)
+ 1 ( 1) (ArEZ T EC& 2BHER)
= 4N  (2BENEIA)
BERER 4/ 8 = 0.56 (Hr/ (PH+PH") )
d = ( 6- 4)/ 9 = 0.21m (BHEALME. Mr-Mt)/ZW)
e = 0.45- 0.21 = 0.24m (R EEBE. L/2-d )
e/L = 0.24/ 0.90 = 0.27 > 1/6
omax ( 9/ 0.21) 2/3 = 30kN/m2 (FR KR$EH#E. (ZW/d)-2/3 )

P=PH+PH"=5.31+2.50=7.81kN

h=3.78/7.81 0.49m
Ps=7.81x 3 23.43kN

M=5.31x 1.25/3+2.50x 1.25/2=3.78kN/m

23.43kN
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加力点

yoshio
テキストボックス
490

yoshio
線

yoshio
線

yoshio
テキストボックス
※加力点における許容極限荷重の算定
　P=PH+PH'=5.31+2.50=7.81kN
　M=5.31×1.25/3+2.50×1.25/2=3.78kN/m
　h=3.78/7.81＝0.49m
　Ps=7.81×3＝23.43kN（許容極限荷重）
　
　∴加力点における許容極限荷重は、23.43kN
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